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Ccutclidqtes are required lo give their utswers ht iheir own yvords as for as prqcticable
-l-he 

figr.rres in the margin indicate full rnarks.

Secl,ion A
Attempt any TWO questiorrs:

(2x10:20)

1. (a) If d : (4,0,3) ancl 7 : 
1

(b) trstimate the value .f JTi

-rrll find l?1, 3i,d +7 arid zd +sl. [1+i+1
.r'r"I-1- o - r
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+2)

[5]

2. (a) The area of the 1;alabola ?J : 12 froin (1,1) to (2,4) is rotateci about thc y_axis.
Find the area of the resulting sur.f'ace 

t5](b) Find the soiution of the equation y2rly : 12dz that satisfies thc initial condition
y(0): 2. 

tsl
3. (a) As drv ail' ll]o\res uptvard, it exirarrds anrl cools. If the glourrci temperature is 200C

ancl the temperature at hcight of lkm, is 100C, exprcss tire temperatur.e T(in 0C) as a
function of the heigirt h (in liilonrcter), assunring that linear rnodel is apprqpriate.
(b) Drarv a glaph of the functiorr in palt (a). \\rhat does the r1op" r."pr"r"r.1i?
(c) \\/irat is the ter,perat.re at a height o{ 2.bknfl [5+3+2]

SectionB (8xb:40).
Attempt any EIGHT questions:

rI
-1. Iritt,gi'ate f^"'t/*+ta" t5].la

5. liind the N{aclarrrin series expansiou oI f@): r.x: at r:0. t5]

6. Irind rvhere the function f (.r) :3a;4 - At;it - l2r2 + 5 is increlsing and u,here it is
ciecreasing 

tbl
, | -^ D ,

7. Find y it f * y:t :6t.g. 
t5l

E. slron tlratg:x:- ] isasolutio'rof tire<iiffr:rcrrtialequatiorr ry'ay:21;. t5]

9. Sketch the gr-aph and find thc dornain a,ncr ra,,ge of the {u,ction f (*):2r -1. i5]

10. Dcterr.i,e rvhethe, the series i '+ co,\rer-gcs or diverges t5]?-r\'i' , n

ll. If J@,!l) : 13 * r2y3 - 2yr, find l,(2,1) and loe,t1. t5]

12. Slrou,tirat the function f ("): a2 q {7 - a is coptinuous at c:4. t5]


